— ®
@t[_lg A www . joy-hyd. com P4 A005-14/C

PFE-31,PFE-41,PFE-S18It /R

EHEE
PFEZ =, 12N F4lk. ZiH@. B
BT P B LI A @, AT e . KA AMIG
W35 TR
I 1454 DINS1524~535 b5 4™ il
VLR FLAT AR e 1 R 1 B J
TCMEAT A WP, AT B AR S
(NEA S
©HE N SFRF A SAE J744 Frifk.
LERETTAE, BN R AT DUk AT
AT YA AR Y. 147 L
O Fik HEABE Ty, W LALE Lo i B4 SE AR
@@ T,
@ ks HERYER T8, HE T iE 150 TH i
® I K Jynfik210bar.
® N
@ o PFE-41
AE
PFE X2 - 31 03 /31028 / 1 D T o /*
SE A S
SERITIR Rt
LRSI Fh ;rlEfﬁ;i%/Jﬁ(?%{M
X2= i A4 ST AU AL
X3= 1 A AL = T4 i
AL T P 52 0 B e AL
XA=#:—APFE-3111%¢. CE, W[5 Y
XB=#—/PFE-41 ({{ X} PFE-41FIPFE-51) {1 %% . T=hrHfE
XC=4—PFE-51 ({LXPFE-51) 1% U, V, W=ZBsR it 1%
XO=HF i, AU 2% S "
A b niol I : I WeFE T N -
BOL: SRR RO KRN, & D= El CUnTERE RN, hRAEE)
FEAA190, S=ii £
YWl PFEZEAAS S
’;‘”j]; W, W6 JF[7 ]
- PRMBIE DO S—2E) T
1=hrifk
e (emirev) L [2] 1 2=KHf M (LA PFE-41RIPFE-51)
PFE 31: 016,022,028, 036, 044 3= T E s
PFE 41: 029,037, 045,056,070, 085 iz
PFE 51: 090,110, 129, 150 S=H T HREMEZRE (TEMNE)
6= T AL LIS AU 55— 5D
(A ZHEREPFEX™: 352 RIZ3) %455 T T E s A g PPFE-STRIPFEA1
[2] T #E45lE: 7E1450rpm, SHIRS0°C, 1SO Vg46T I & T iliE
. HE = 3 0 7bar(3) 70bar(3 140bar(3) 210bar(3)
B5 cme/rev REEA | om(2) I/min kW I/min ( )kW I/min kw I/min kw
PFE-31016 16.5 23 0.5 21 3 19 5 16 8.3
PFE-31022 21.6 800-2800 30 0.6 28 4 26 7 23 10.8
PFE-31028 28.1 40 0.8 38 5.5 36 10 33 14
PFE-31036 35.6 51 1 49 7 46 12.5 43 17.8
PFE-31044 43.7 63 1.3 61 8 58 15.5 55 22
PFE-41029 29.3 41 0.8 39 5.5 37 10 34 14.7
PFE-41037 36.6 800-2500 52 1 50 7 48 12.5 45 18.3
PFE-41045 45.0 210bar(1) 64 1.3 62 8.5 60 16 57 22.6
PFE-41056 55.8 80 1.6 78 1 75 21 72 28
PFE-41070 69.9 101 2 98 13.5 95 26 91 35
PFE-41085 85.3 800-2000 124 2.4 121 16 118 32 114 43
PFE-51090 90.0 128 2.7 124 17 119 33 114 45
PFE-51110 109.6 800-2200 157 3.2 152 21 147 40 141 55
PFE-51129 129.2 186 3.7 180 25 174 47 168 65
PFE-51150 150.2 800-1800 215 4.2 211 29 204 55 197 75
(1) HI/WGHI/PEZE I i K = )1 4 160bar
(2) HIIWGHI/PE L 17 £z K4 14 4 1800rpm..
(3) Tt R AL 5 Hed E L AQOS * 1

TEL 86-21 64559111 FAX 86-21 51861184



PFE-* 18Rt F REEESH:

WwWw

-joy-hyd.com

CRRLE fEFTfLE
i LA T A SR VEAT PR B, DA 58 R 0 (1 7
PRBER I M-20C#]+70°C
HIRGGES 75 ¢rDIN51524~535 )3 Hevthi s FeAt A o L [ 1 14
R
BRA R 800mm?/s
AU A R 100mm’/s
AT DR 24 mms
LI B N 10 mms
M Fi£71SO19/M6h5HE CBUTI25 u mAl B =753 JER
WRHLE FbrifE# . -20°C~+60°C, /WG -20°C~+50°C, /PE#k}: -20C~+80C
HeFEE R i L E1800rpmEL Y I, M-0.15bar®]1.5bar, #5Hit1800rpmit, A O0%]1.5bar

[4] MEabk: RTHES0C, SO VGA6HFARE L E i

1=Hi%E—[E 1 #hsk

2=MEFEIKFE, 1Ef7171S04412-1
FRAE PR 0 DA«
g 1450rpm

PFE-31

3=1E & J) )\ 7bar 1t %2 210barf (1)
e —iEm Lk

4={E140barlif [N TN R H7E — S8R il 2%
THRETN AR AR Iy e bt o

PFE-41

5=1¢J Jj \7bar 4k 42 210barlH 1)
MR

6=11:140barl [\ ThZ ¥ — %R dh £k,
THFED AN LA ) b b

PFE-51

7=1£ % 1 \Tbar 1k, %2 210barlif 1)
e iRk

8=11:140barl [ HE i #E — 45 iR M 2%,
TR AN ARSI R ELE .

A005 + 2

6005 100
50
’g 430 7 90*,,, P
Z s =
= o <
% 360 "o o
i ///u:g S, PFE-S1
§ 240 s :370 :g; ~—PFE-41
§ 2 /é:gig PFE-31
‘ Y, //_’uza
/i /"é:maozz
0 50 100 150 200 250 0 50 00 150 200 250
T I ) [bar] ARy par]
100 30
3 4 044
80 - 2 )—7036
— =
£ 60 = 1 Aoz
£ % -~
g ) 022
= 40 = 2 e
= A
o //// 016
20 1 6
=
0 600 1200 1800 2400 3000 0 600 1200 1800 2400 3000
B3 [rpm] B3 [rpm]
200 60
5 6
160 48 085
— 070
S
= 120 = 36} -
E o V 056
£ = / / 045
ﬂ:j 80 § 24 037
- ; e / / L 029
40 2 P
==
0 500 1000 ~ 1500 2000 2500 0 S00 1000 1500 2000 2500
3 [rpm] 34 [rpom)
300 100
7 8
240 80— —— /m o
= 180 g 6ol 41 10
£ = s
£ # |- 090
0z 120 o 40
60 20 _ _
0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500
563 [rpm) #eid [rpm]

TEL 86-21 64559111 FAX

86-21 51861184



www . joy-hyd. com

BEEET]
ST (AR T IR O AR 5 T A L B ORI
T3k i A R Lk b CGRRMEZ)
U=l 1 S5k A 221807
V= S e A 2290°
W=t it 1530 A 22270°
I A S UAIIE IREC ST A o
(BT LA ek 5 A 0 L 105 ke i s
T U W
T P P
T
[6] 355 %
Faedh
V=T HRFEMETEEE U — R B
EREHETL, AR
2=J T BRI BIEE (U — (5D ~
KA ([LAPFE-41RIPFE-51) 5l
S=HTFREMZIIE (U — 5 L
EELAE I
o1
FERREHEL1 (hfE) TR T3
Ae AL 2 INEEEE NEueiE B
Al F Gl K D71 DAQ Al F Gl K D71 DAQ Al F Gl K D71 DAQ
PFE-31| 4.78 [21.11|57.50| 9.50 |19.05| SAE 16/32-9T - - - - - - 4.78 |24.54|57.50| 9.50 [22.22| SAE 16/32-9T
4.75 120.94 19.00 4.75 |24.41 22.20
PFE-41| 4.78 |24.45(59.00|11.40|22.22| SAE 32/64-24T| 6.36 (25.03|71.00| 8.00 |22.22| SAE 32/64-24T| 6.38 | 28.30|78.00|11.40|25.38| SAE 32/64-24T|
4.75 |24.41 22.20 6.35 |24.77 22.20 6.35 |28.10 25.36
PFE-51| 7.97 |35.33(73.00| 14 |31.75|SAE 16/32-13T| 7.95 |35.33|84.00| 8.10 |31.75|SAE 16/32-13T| 7.97 | 38.58/84.00| 14 |34.90| SAE 16/32-13T|
7.94 |35.07 31.70 7.94 |35.07 31.70 7.94 | 38.46 34.88
TE et
5=JI T AR 2 AL (T BB 2
1 T-PFE-3175¢-SAE A 16/32 DP, 9% ik
JHTPFE-4175{ySAE B 16/32 DP, 1344
FHTPFE-517154SAE C 12/24 DP,14% 4
6= TR 2 B (U T4 T 20
JHTPFE-31FIPFEX*-317 - SAE B 16/32 DP, 13/ )i
JTI-F-PFE-41FIPFEX*-4145{+SAE C 12/24 DP 14 ki
7= ST T4 R R
JHFPFEX*-3144¢-SAE B 16/32 DP, 13 A
HTPFEX*-4177{4SAE C 12/24 DP, 148 A
TEREIRELS TERRITI6 T RRIE7
A& INEaECE ki) S A ISR R
G2 | G3 K Z1 DAQ G2 | G3 K Z1 DAQ G2 | G3 K Z1 DAQ
PFE-31(33.50({19.50|9.50| SAE 16/32-9T | SAE 16/32-9T |42.50| 28 | 9.50 [SAE 16/32-13T SAE 16/32-9T |33.50| 19 | 9.50 |SAE 16/32-13T| SAE 16/32-9T
PFE-41(41.25| 28 |8.00|SAE 16/32-13T|SAE 32/64-24T |55.60| 42 |8.00 [SAE 12/24-14 SAE 32/64-24T41.60| 28 | 8.00 |SAE 12/24-14T |SAE 32/64-24T|
PFE-51|56.00| 42 |8.10|SAE 12/24-14T|SAE 16/32-13T| - - - - - - - - - -
[7 ]38 4 1y T8 1
BAUEFHHLE [Nm] BB R A 45 [Nm)
REE
) FHED A3 A5 LA w7 {07 0 2
PFE-31 160 - 240 110 240 240 130
PFE-41 250 250 400 200 400 400 250
PFE-51 500 500 850 450 - - 400

YRS AT AL A [A A R R — R i bl A
TE 2RI B — 2 L RS AR 5 SR IR A
IELRE VR FH 7SR Sl L i) B AR AN 2 2 oh ) 4

TEL 86-21 64559111 FAX 86-21 51861184

A005 + 3




[8]|mmuZ%E R ~F [mm]

www . joy-hyd. com

T=it
Pt 1

SAE300R! bRtk > 22 e S i -

oY
@Ddes

PFE-31: TI=11/4"; PI1=3/4" . P
PFE-41: TI1=11/2"; Pl1=1" , . PFE-31=09kg
PFE-51: TH=2"; PLI=11/4" — % PFE-41=14kg
& L PFE-51=25.5kg
A5 A B C @D E H L M ON Q R
PFE-31 136 100 28 82.5 70 6.4 106 73 95 11.1 28.5
PFE-41 160 120 38 101.6 76.2 9.7 146 107 120 14.3 34
PFE-51 186.5 125 38 127 82.6 12.7 181 143.5 148 17.5 35
itk [N Ul uz2 \% OWI1 OW2 J1 J2 X1 X2 oY
PFE-31 114 58.7 47.6 10 32 19 30.2 222 M10x20 | M10X17 47
PFE-41 134 70 52.4 13 38 25 35.7 26.2 M12X20 | M10X17 76
PFE-51 160 77.8 58 15 51 32 42.9 30.2 M12Xx20 | M10X20 76
(9 ]@aR AR T (34 % &FR) [mm]
T=k i 11 |
P=thih
SAE >
PFEX-31: TI1=11/4"; P[1=3/4"
PFEX-41: TH=11/2"; PH=1"
PFEX-51: TH=2"; Pri=11/4"
AR, W8]
A5 DAG | DAH ERHIHE(Nm) (1) AL DAN| AP AR DAS H J L M N R
82.57 6.42
PFEXA-31] 114 106 70 M10Xx17 | 95 33 25 82.63 6.48 165.5 132.5 79 32 28.5
82.57 6.48
PFEXA-41 134 106 70 M10X17| 95 23 1" 82.63 6.48 194 171 73 32 28.5
101.62 9.73
PFEXB-41 134 146 125 M12 120 32 18 101.68 978 203 171 107 41 34
82.57 6.42
PFEXA-51] 134 106 70 M10Xx17 | 95 22.7 1" 82.63 6.43 206.2 183.5 73 32 28.5
101.62 9.73
PFEXB-51 134 146 125 M12 120 32 18 101.68 9.78 215.5 183.5 107 41 34
127.02 12.73
PFEXC-51] 134 181 300 M16 148 | 46.5 30.7 127.02 12.78 230 183.5 143.5 56 35
(1) B RIS 40 12. 9%
AQ05 - 4
TEL 86-21 64559111 FAX 86-21 51861184



	页 1
	页 2
	页 3
	页 4

